N = 0 &8 AFH Y & A AN
20219 & 20l & LB H S#FAIE A
B E A A
D MHSAsE 29
D MEHSXSE 29 (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
A A 9,281,564 12,980,071 N 3,698,507
HasXasd 29 301,564 380,071 NT8,507
MESXNSE 29 301,564 380,071 NT78,507
HEHSKN3SR 29 &L A2 301,564 380,071 NT8,507
101 @121l 89, 100 117,571 N28,471
04 JI2ZtH 22 XNEE 89, 100 117,571 N28,471
OSQHMESXZY 2ol ALY (HE HEYEY
s) 138,980& 10 * 122 x33] 50,033
OQLAMHSANSE HA=0IH 22 A2 39,067
=3 69,7603 x2H x186Y 25,951
S22 69,7603 *1.5x2H *30L 6,279
RasdY 69,760& x2H x49L 6,837
201 et A | 35,464 28,000 7,464
01 AFR2 2t 2l Yl 5,000 5,000 0
OQLEME S SH 2F 22/dl 5,000
02 35244l 30,464 23,000 7,464
O22223(&)| - &ddt==23)
660,000 x 1271 & 7,920
OANEEH SN (3EA, 2 ~ZHHA S) 20,000
O XH&Fd| 2,544
224l 1,160& %9004 1,044
XHeFA =S| 200,000& *1CH x4 3] 800
28 ¥ 3322 700,000& = 1CH 700
206 M = dl 7,000 9,500 A 2,500
01 = bl 7,000 9,500 A 2,500
O%M & Hz ¢ 25,000& *200H 5,000
OJIEIMEHI (K S) 2,000
401 Al HIL 201 170,000 215,000 A 45,000
01 Al &bl 170,000 215,000 AN 45,000
OQLAMESAN S &Cl AT SAL
30,000, 0003 *14] 30,000
ORQLAMEHSANSI SA=H A& 2E2] &
S At 20,000, 0003 *14] 20,000
OQLAMEHSANSS AHZ FH 2 EX
= Ab 30,000,000 *14] 30,000
ORQLAMEHSANZSE TF=x= A3 A
50,000,000 *14] 50,000
ORQLAMEHSAN S & THd3A
40,000,000 * 14 40,000
FES(SHEAMEA) 8,980,000 12,600,000 A 3,620,000
WEHAH K= 8,980,000 12,600,000 A 3,620,000
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el WEHHXI= CEERED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SIIEELELAH Nh=dE= 8,980,000 12,600,000 A 3,620,000
701 JIEtSI HSHES 8,980,000 12,600,000 A 3,620,000
03 BIIHELEIIHN=2HES 8,980,000 12,600,000 A 3,620,000
Odt+==C3INEEL3H 8=3 8,980,000




